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ADS R HDCP 0~14
20224 7A178
JIEAS7 K4 OUT IN 18H HD NET  |#HDCP
1 et R 36 38 74 12.0 62. 0 9
2 KA I 37 36 73 10.0 63. 0 7
3 SN BT 40 37 77 13.0 64. 0 11
4 TRYE e 34 38 72 8.0 64. 0 6
5 NSRS S 34 39 73 9.0 64. 0 7
6 HTH & 38 35 73 8.0 65. 0 6
7 st IE 40 39 79 14.0 65. 0 12
8 G3  KIkf] 1EfE 35 37 72 7.0 65. 0 6
9 SAE ST 36 40 76 11.0 65. 0 9
10 G2 B eSS 37 35 72 6.0 66. 0 5
11 LT ek 39 37 76 10.0 66. 0 9
12 B B 38 37 75 9.0 66. 0 8
13 fEA 1# 40 40 80 14.0 66. 0 12
14 G1  PIE =5 34 36 70 4.0 66. 0 3
15 AAT H 38 41 79 13.0 66. 0
16 HE B 35 37 72 6.0 66. 0 5
17 SrAR/ I E ) 38 37 75 8.0 67.0
18 iy iR 40 39 79 12.0 67.0
19 AT R 35 39 74 7.0 67.0
20 HAT 5L 42 37 79 11.0 68. 0
21 I s 42 39 81 13.0 68. 0
22 LN F s 40 38 78 10.0 68. 0
23 WEE HuT 41 39 80 12.0 68. 0
24 FRH &5 37 40 77 9.0 68. 0
25 Bl Fik 36 39 75 6.0 69. 0
26 ZH B 41 38 79 9.0 70.0
27 FHE Sk 41 39 80 10.0 70.0
28 PR Zhd 39 37 76 6.0 70. 0
29 HN HER 42 42 84 14.0 70. 0
30 EIT 41 42 83 13.0 70. 0
31 A FSE 36 38 74 4.0 70.0
32 IEY 5] 40 43 83 13.0 70.0
33 AR BiR 38 42 80 10.0 70.0




34 eIl k7 36 45 81 11.0 70. 0
35 Vi C =L 41 41 82 11.0 71.0
36 O POER 39 39 78 7.0 71.0
37 N /N 39 39 78 7.0 71.0
38 fRH HiE 39 41 80 9.0 71.0
39 R-Y 42 43 85 14.0 71.0
40 I ERR 40 42 82 11.0 71.0
41 A B 41 40 81 9.0 72.0
42 ] A< FiIH 40 44 84 12.0 72.0
43 = TR 37 43 80 8.0 72.0
44 AlRELY 36 42 78 6.0 72.0
45 B AR 41 42 83 10.0 73.0
46 AT FEE 40 35 75 1.0 74.0
47 b BE 44 42 86 12.0 74.0
48 LA Jll — 43 43 86 11.0 75.0
49 H5F #K 41 47 88 13.0 75.0
50 Pefl W 41 46 87 12.0 75.0
51 (L] FEEA 40 42 82 6.0 76.0
52 SAE R 42 47 89 13.0 76. 0
53 A fi— 44 44 88 11.0 77.0
54 HH BE—RD 45 44 89 11.0 78.0
55 TR 40 49 89 10.0 79.0
56 IRA BETF 48 46 94 14.0 80. 0
57 AKF HEsL 45 51 96 13.0 83.0
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BHYS5X HDCP 15~40
20224 7A178
JIEAS7 K4 OUT IN 18H HD NET
1 NSRS A 52 37 89 29. 0 60. 0
2 “H 44 44 88 28.0 60. 0
3 Rt 38 42 80 19.0 61.0
4 NEF FRIA 42 36 78 16.0 62. 0
5 IR H—RB 48 48 96 33.0 63.0
6 P E— 38 42 80 17.0 63. 0
7 lhn BEF 42 38 80 15.0 65. 0
8 aH &z 41 41 82 17.0 65. 0
9 P fit 38 44 82 17.0 65. 0
10 B F51E 37 43 80 15.0 65. 0
11 A R 47 44 91 25.0 66. 0
12 A BRFEE 45 42 87 21.0 66. 0
13 ANER 41 40 81 15.0 66. 0
14 AN 42 42 84 18.0 66. 0
15 AR b 48 48 96 30.0 66. 0
16 BAR K TER 42 43 85 19.0 66. 0
17 B EBIRER 46 47 93 27.0 66. 0
18 W EET 48 44 92 25.0 67.0
19 NN 45 41 86 19.0 67.0
20 KA 45 42 87 20. 0 67.0
21 T R 47 47 94 27.0 67.0
22 LS 41 41 82 15.0 67.0
23 AR 52 51 103 36.0 67.0
24 AR Fnl 43 47 90 23.0 67.0
25 R 2% 48 51 99 32.0 67.0
26 R 41 42 83 15.0 68. 0
27 G A 42 44 86 18.0 68. 0
28 W Br— 46 40 86 17.0 69. 0
29 KRR 49 44 93 24. 0 69. 0
30 A 3CHI 41 45 86 17.0 69. 0
31 A H5 46 45 91 21.0 70. 0
32 i JIE— 46 46 92 22.0 70. 0
33 JIEE JEZE 46 44 90 19.0 71.0

#THDCP
24
23
15
13
28
14

15
15
13

13

17



34 FEAT R 39 50 89 18.0 71.0
35 BN =S 45 43 88 16.0 72.0
36 Il Bk 49 47 96 24.0 72.0
37 W #aE 47 46 93 21.0 72.0
38 Rk A 45 44 89 17.0 72.0
39 ISEH G, 42 47 89 17.0 72.0
40 HIF & 46 44 90 17.0 73.0
41 FAR Foh 47 44 91 17.0 74.0
42 TR g 50 46 96 22.0 74.0
43 /N # 43 46 89 15.0 74.0
44 il TR 48 46 94 19.0 75.0
45 I EFHF 49 56 105 30. 0 75.0
46 HH JRKER 51 47 98 22.0 76. 0
47 EEAT 3% 49 47 96 20. 0 76. 0
48 N 45 48 93 17.0 76.0
49 ARl BT 57 53 110 33.0 77.0
50 I A= 50 53 103 24. 0 79.0
51 KA R 46 52 98 17.0 81.0
52 I 2B 50 54 104 20. 0 84. 0
53 ANITr= 57 64 121 32.0 89. 0




